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25.

Végezd el a kovetkezo miiveleteket!

1. (3a+5) =
2. (4b+7)=
3. (2x+3) =
4. (5c+4)y=
5. (6p+2)=
6. (4a+2b)y=
7. (3b+7a)y =
8. (2x+3y) =
9. (6c+5d)°=

10. (7p+2q)’=

2x+3)2x-3) =
4y +2)-(dy-2) =
(Bc+1)(Bc-1)=
(5q +4)(5q-4)=
(45 + 5)-(4s —5) =

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

26.
27.
28.
29.
30.

(4a—7)"=
(2b-3)’=
(5x —4)*=
(6c —2)*=
(4p-5)°=
(3a—7b)*=
(2b - 3a)° =
(6x —5y)*=
(7c —2d)*=

(3p-69)*=

(4x +2y)-(4x —2y) =
Qy +x)By -x) =
(5¢ +4d)-(5¢c—4d) =
(4q + 5p)-(4q - 5p) =
(2s + 3m)-(2s — 3m) =
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